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NEW QUESTION 1
- (Topic 4)

Which security measure mitigates a man-in-the-middle attack of a REST API?

A. SSL certificates
B. biometric authentication
C. password hash
D. non repudiotion feature

Answer: A

NEW QUESTION 2
- (Topic 4)

Which Python library is used to work with YANG data models via NETCONF?

A. Postman
B. requests
C. nccllent

D. cURL

Answer: C

NEW QUESTION 3
DRAG DROP - (Topic 2)

Drag and drop the characteristics from the left onto the orchestration tools that they describe on the right.

Ansahle
[ uscs o pull medel
[ uscs playboaks
[ procedural i
[ declarathes
Solution:
T T T T T T T R T T - . B
WsoE & pall medel | [T e e e e
[ uses playbooks
| e NS NN . BN B B h_  EE_  EE_— J__  S__— __  __—_ ! I
uses playboaoks
NN N O N O NN O O O AN O OB O O ) procedural l
I procedural J i

declarative

Does this meet the goal?

A. Yes
B. No

Answer: A

NEW QUESTION 4
- (Topic 2)
Refer to the exhibit.
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Frame 24: 138 bytes on wire (1184 bits), 138 bytes captured (1184 bits) on interface @

Ethernet II, Src: 50:00:00:01:00:81 (50:00:00:01:00:01), Dst: 50:00:00:02:00:01 (50:00:00:02:00:01)
Internet Protocol Version 4, Sec: 209.165.202.130, Dst: 209.165.202.134

Generic Routing Encapsulation (IP)

Internet Protocol Version 4, Src: 10.111.111.1, Dst: 10.111.111.2

Internet Control Message Protocol

17216 1. 10024

A GRE tunnel has been created between HO and BR routers. What is the tunnel IP on the HQ router?

A.10.111.111.1
B.10.111.111.2
C. 209.165.202.130
D. 209.165.202.134

Answer: A
NEW QUESTION 5

DRAG DRORP - (Topic 2)
Drag and drop the tools from the left onto the agent types on the right.

[Agent-ased
Puppet
Arisabde
SaltStack Byt

Solution:

SaltStack

Does this meet the goal?

A. Yes
B. No

Answer: A

NEW QUESTION 6
- (Topic 2)
What is the difference between a RIB and a FIB?

A. The RIB is used to make IP source prefix-based switching decisions
B. The FIB is where all IP routing information is stored

C. The RIB maintains a mirror image of the FIB

D. The FIB is populated based on RIB content

Answer: D
Explanation:
CEF uses a Forwarding Information Base (FIB) to make IP destination prefix- based switching decisions. The FIB is conceptually similar to a routing table or

information base. It maintains a mirror image of the forwarding information contained in the IP routing table. When routing or topology changes occur in the
network, the IP routing table is updated, and those changes are reflected in the FIB. The FIB maintains next-hop address information based on the information in
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the IP routing table. Because there is a one-to-one correlation between FIB entries and routing table entries, the FIB contains all known routes and eliminates the
need for route cache maintenance that is associated with earlier switching paths such as fast switching and optimum switching.

Note: In order to view the Routing information base (RIB) table, use the “show ip route” command. To view the Forwarding Information Base (FIB), use the “show
ip cef” command. RIB is in Control plane while FIB is in Data plane.

NEW QUESTION 7
- (Topic 2)
How is a data modeling language used?

A. To enable data lo be easily structured, grouped, validated, and replicated

B. To represent finite and well-defined network elements that cannot be changed
C. To model the flows of unstructured data within the infrastructure

D. To provide human readability to scripting languages

Answer: A

NEW QUESTION 8

- (Topic 2)

Refer to the exhibit.

MmMuUuJe tamauenm 1 out=un £

exit

!

ip cef
|

interface GigabitEthernet 0/0/0
ip address 172.16.6.2 255.255.255.0

Which command set must be added to the configuration to analyze 50 packets out of every 100?
A)

interface GigabitEthernet 0/0/0

ip flow monitor FLOW-MONITOR-1 sampler SAMPLER-1 input
B)
sampler SAMPLER-1

no mode random 1-out-of 2
mode percent 50

interface GigabitEthernet 0/0/0
ip flow monitor FLOW-MONITOR-1 sampler SAMPLER-1 input

C)

flow monitor FLOW-MONITOR-1
record vd_r1
sampler SAMPLER-1

interface GigabitEthernet 0/0/0
ip flow monitor FLOW-MONITOR-1 sampler SAMPLER-1 input

D)

sampler SAMPLER-1
mode random 1-out-of 2
flow FLOW-MONITOR-1

interface GigabitEthernet 0/0/0
ip flow monitor SAMPLER-1 input

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
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NEW QUESTION 9
- (Topic 1)
Which features does Cisco EDR use to provide threat detection and response protection?

A. containment, threat intelligence, and machine learning
B. firewalling and intrusion prevention

C. container-based agents

D. cloud analysis and endpoint firewall controls

Answer: B

NEW QUESTION 10
- (Topic 1)
Which entity is responsible for maintaining Layer 2 isolation between segments In a VXLAN environment?

A. switch fabric
B. VTEP

C. VNID

D. host switch

Answer: C

Explanation:

s =

The 24-bit VNID is used to identify Layer 2 segments and to maintain Layer 2 isolation between the segments

VXLAN uses an 8-byte VXLAN header that

consists of a 24-bit VNID and a few reserved bits. The VXLAN header together with the original Ethernet frame goes in the UDP payload. The 24-bit VNID is used

to identify Layer 2 segments and to maintain Layer 2 isolation between the segments.

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus9000/sw/7-x/vxlan/configuration/guide/b_Cisco_Nexus_9000_Series_NX-
OS_VXLAN_Configuration_Guide_7x/b_Cisco_Nexus_9000_Series NX- OS_VXLAN_Configuration_Guide_7x_chapter_010.html

NEW QUESTION 11
- (Topic 1)

Refer to me exhibit. What is the cause of the log messages?

A. hello packet mismatch
B. OSPF area change

C. MTU mismatch

D. IP address mismatch

Answer: B

NEW QUESTION 12
- (Topic 1)

-

IR R R Py oy ]
iaterfar e 1 Lot f._. o
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Refer to the exhibit. An engineer attempts to configure a trunk between switch swl and switch SW2 using DTP, but the trunk does not form. Which command

should the engineer apply to switch SW2 to resolve this issue?
A. switchport mode dynamic desirable

B. switchport nonegotiate

C. no switchport

D. switchport mode access

Answer: A

NEW QUESTION 13
- (Topic 1)
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What is a characteristic of a virtual machine?

A. It must be aware of other virtual machines, in order to allocate physical resources for them
B. It is deployable without a hypervisor to host it

C. It must run the same operating system as its host

D. It relies on hypervisors to allocate computing resources for it

Answer: D

NEW QUESTION 14

- (Topic 1)
l e "
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BR 1 PE 1
router bgp 100 roater Do JO0
neghbor 172 24 108 1 remole-as 100 bgs og-reghoa Chargen
mesghior 172 24 108 1 Aet-mop-ted nmghier 200 1495 202 11) remate-at 100
NegrOor 209 164 202 1 M4 remmote-a4 200
BR2 PE2
1outer bge 100 toute DD 300
nasgh0r 172 24 106 2 remote-as 100 DOD OQ-"e DO -ChANQes
nesgPOOr 172 24 109 2 nest-hop-self neghtor 209 165 200 220 remate-as 100
rasghe0d 200 145 200 230 remote-as JOC

BR28sh ip route | 1 209 165 2010 _ N

209 165 201 0727 i sudnetied 1 subnels
B 209 165 201 0 [20/0] via 209 165 200230 00 00 17

Refer to the exhibit. Which configuration change will force BR2 to reach 209 165 201 0/27 via BR1?
A. Set the weight attribute to 65.535 on BR1 toward PE1.

B. Set the local preference to 150 on PE1 toward BR1 outbound

C. Set the MED to 1 on PE2 toward BR2 outbound.

D. Set the origin to igp on BR2 toward PE2 inbound.

Answer: C

Explanation:
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Hi Rd! My MED is 100! |

R2's MED is lower
so I will use its path!

Hi R4! My MED is 200!]

Diagrama Descripcion generada automaticamenteMED Attribute:+ Optional nontransitive attribute
(nontransitive means that we can only advertise MED to routers that are one AS away)+ Sent through ASes to external BGP neighbors+ Lower value is preferred
(it can be considered the external metric of a route)+ Default value is 0

NEW QUESTION 15
- (Topic 1)
Refer to the exhibit.

A. The keepalive value is modified from the default value.
B. Interface tracking is configured.

C. The tunnel mode is set to the default.

D. The physical interface MTU is 1476 bytes.

Answer: C

NEW QUESTION 16
- (Topic 4)
Refer to the exhibit.
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7 L3 { RECOT O
3 5 [Tracing the route to 172.16.1.2
' 172.16.250.4./30 '
1172.16.250.1 2 msac
172.16.250.5 5 mzoo
3 2 172.16.250.1 2 msec
2 172.16.250.1 2 msac
]
— pe2 TP swﬂh 172.16.250.5 & msec
PC1 SV Sene 172.16.250.1 2 msec
172 16.40.0 124 17216.1.0.24 3 172.16.1.2 6 msoc 5 msec 5 msec

R2# show ip route
Codas: C - connected, 8 - static, I - IGRP, R - RIP, M - mobila, B - BGP
D - EIGRP, EX - EICRP oexternal, © - OSPF, IA - OSPF inter area
Nl - OSPF NSSA extarnal type 1, NZ - OSPF NSSA axtarnal type 2
El - OSPF axtarnal type 1, E2 - OSPF extarnal typa 2, E - EGP
i - 15-1I8, L1 - I5-1I8 level-1l, 12 - I5-1I5 level-2, * - candidate default
U = par-usar static route, o - ODR
Gateway of last resort is not set
c 172.16.0.0/16 is directly connected, Loopback(
172.16.0.0/16 1s varlably subnetted, 2 subnets, 2 masks
C 172.16.40.0/24 is directly connected, Gigabit Ethernat 0/1
1] 172.16.1.0/24 [110/7445] wvia 172.16.250.1, 00:39:08, Gigabit Ethernat 0/0
[110/7445] wia 172.16.250.5, 00:39:08, Gigabit Etharnat 0/4

Clients are reporting an issue with the voice traffic from the branch site to the central site. What is the cause of this issue?

A. The voice traffic is using the link with less available bandwidth.

B. There is a routing loop on the network.

C. Traffic is load-balancing over both links, causing packets to arrive out of order.
D. There is a high delay on the WAN links.

Answer: C

Explanation:

Traffic is load-balancing over both links, causing packets to arrive out of order. This can cause voice quality issues, such as jitter and delay. To avoid this problem,
voice traffic should be sent over a single path, using a routing protocol that supports unequal-cost load balancing, such as EIGRP. The source of this answer is the
Cisco ENCOR v1.1 course, module 4, lesson 4.3: Implementing EIGRP.

NEW QUESTION 17
- (Topic 4)

- Inlemed

Admnistrator

§ = =

C1 PC2
Server

10010724

Refer to the exhibit. An engineer must save the configuration of router R2 using the NETCONF protocol. Which script must be used?

“<7xml version="1.0" encoding="ut{-8"7>
<rpc xmins="urn:ietf:params:xmi:ns:netconf:base:1.0" message-id="">
<cisco-la:resel xmins:cisco-ia="htip:licisco.comlyang/cisco-ia">
<cisco-ia:reinitialize>true</cisco-ia:reinitialize>
</cisco-ia:reset>
</rpc>

D <?xml version="1.0" encoding="ut{-8"?>
<rpc xmins="urn:ietf:params:xmi:ns:neétconf:base:1.0" message-id="">
<get>
<filter type="subtree”>
<pcm:netconf-state xmins:nem="urn:ietf:params:xmi:ns:yang:ietf-netconf-monitoring™>
<ncm:capabilities/>
</ncm:netconf-state>
</filter>
</get>
<irpc»
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<?xml version="1.0" encoding="utf-8"7>

<rpc xmins="urn:ietf:params:xmil:ns:neiconf:base:1.0" message-id=
<cisco-ia:save-config xmins:cisco-ia="http://icisco.comlyang/cisco-ia"/>

</rpc>

]

<?7xml version="1.0" encoding="ut{-8" 7>
<rpc xmins="urn:ietf:params:xml:ns:netconf:base:1.0" message-id="">

<cisco-ia:sync-from xmins:cisco-ia="http:/icisco.com/yang/cisco-ia"></cisco-ia:sync-from>
</rpe>

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 18

- (Topic 4)

Users have reported an issue connecting to a server over the network. A workstation was recently added to the network and configured with a shared USB printer.
Which of the following is most likely causing the issue?

A. The switch is oversubscribed and cannot handle the additional throughput.

B. The printer is tying up the server with DHCP discover messages.

C. The web server's back end was designed for only single-threaded applications.
D. The workstation was configured with a static IP that is the same as the server.

Answer: D

Explanation:

The workstation was configured with a static IP that is the same as the server. This is because if two devices on the same network have the same IP address,
they will cause an IP address conflict, which will prevent them from communicating with other devices on the network. The users who were moved to different

desks may have been assigned static IP addresses that were not updated after the move, and they may have accidentally used the same IP address as the
server. The source of this answer is the Cisco ENCOR v1.1 course, module 3, lesson 3.1: Implementing IPv4 and IPv6 Addressing.

NEW QUESTION 19
- (Topic 4)
Refer to the exhibit.

event manager applet CONFIG BACKUP
action 1.0 cli command "enable”
action 3.0 cli command "end"

action 4.0 cli command “exit”

write backup.tci

set output [exec "copy run backup”]

set fd [open "flash:/backup.ixt” "w"]
puts $fd Soutput
close $fd

10s _config “file prompt quiet” "end”

copy flash:/backup.txt tftp://10.1.1.23/backup.txt
ios config "no file prompt quiet” "end”

file delete -force “flash:/backup.txt *

Which statement is needed to complete the EEM applet and use the Tel script to store the backup file?
A. action 2.0 cli command "write_backup.tcl tcl"

B. action 2.0 cli command "flash:write_backup.tcl"

C. action 2.0 cli command "write_backup.tcl"

D. action 2.0 cli command "telsh flash:write_backup.tcl"

Answer: B
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Explanation:

This is because the EEM applet needs to specify the full path of the Tcl script that is stored in the flash memory of the device. The script name is write_backup.tcl
and it is used to backup the running configuration to a remote server. The source of this answer is the Cisco ENCOR v1.1 course, module 8, lesson 8.3:
Implementing Embedded Event Manager.

NEW QUESTION 20
DRAG DROP - (Topic 4)
Drag and drop the LISP compone

nts on the left to the correct description on the right.

= 3 =

Solution:

Does this meet the goal?

A. Yes
B. No

Answer: A

NEW QUESTION 21
- (Topic 4)
Refer to the exhibit.
r ] | ]
10.5,2.0/24

hostname IDC1

i

interface GigabitEthernetd/d

ip 19.1.1.2 255.255.255.8

ip nat inside

1

interface GigabitEthernetd,1

ip address 10.58.250.1 255.155.255.@
ip nat outside

!

ip nat inside source static 19.1.2.189 interface
GigabitEthernet 8/1

The server in DC2 is expecting traffic from the database in DC1 to use the source network of 10.50.250.0/24. The server sends the initial request. The inside
global IP is configured for 10.50.250.1. What is the result of this configuration?

A. Only the server can initiate communication.

B. The server and the database cannot communicate.

C. The server and the database can initiate communication.
D. Only the database can initiate communication

Answer: C

NEW QUESTION 22
- (Topic 2)
Refer to the exhibit.

An engineer is installing a new pair of routers in a redundant configuration. Which protocol ensures that traffic is not disrupted in the event of a hardware failure?
A. HSRPv1

B. GLBP
C. VRRP
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D. HSRPv2
Answer: A
Explanation:

The virtual MAC address is 0000.0c07.acXX (XX is the hexadecimal group number) so it is using HSRPv1.
Note: HSRP Version 2 uses a new MAC address which ranges from 0000.0C9F.F000 to 0000.0C9F.FFFF.

NEW QUESTION 23
DRAG DROP - (Topic 4)

Drag and drop the snippets onto the blanks within the code to construct a script that brings up the failover Ethernet port if the primary port goes down and also

shuts down the failover port when the primary returns to service. Not all options are used.

AVant mAnRMgsr applat lﬁl‘*.’l.-l&
svent syslog pattern “Line protocol on Intarfsce GigabitEthernetd/0/9, changed state uj’ ]'
mction 1.0 cli command “enable*
actieon 2.0 cli comsand “configure terminal”
sction 3.0 cli command “Interface GigabitEthernatd/S0/10"
sction 4.0 cli comsand “ne shutdewn®

action 3.0 cli cosmand “end”

svent sanager applet SMV-1-Down
event syslog pattamn "Line protecel on llurhﬂ-] I « Cchanged stats to wp”
sction 1.0 cli comsand ~“snable”
sction 2.0 cli command “configure terminal”
sction 3.0 cli command * tEthexmetd/0/10"
sction 4.0 cli command ~ "

action 5.0 cli command -

[ owdom | | ™ | | coseshemeyano |

| Mosadown | | Down | | OoutEmensans |

Solution:

avent mansgar applat SRV-1-v94 = m em e ===
avent syslog pattssn “Line protocel on Interfsce GigabitEthernetd/0/%, changed state to Droweny i'
mction 1.0 cli command “enable™
action 2.0 cli command “configuie terminal”
sction 3.0 cli command “Interface GigabitEthsrnatd/0/10~
sction 4.0 cli cosmand “no shutdown®
actiom 3.0 gli command “end*
svant mansger applet EMV-1-Down
svent syslog pattern "Line protocol on Interface| Gosbiiterstdls ||, changed stats to up”
actien 1.0 ali comsand “snable®
sction 2.0 cli command "configure terminal®
sction 3.0 cli command “Tntarface GisahitEthernetd/ 0710
sction 4.0 cli command ° Suddown s
sction 5.0 cli command -

1 swom | 7 "~ " 1 [ ocossmemeyuio |

[ wwaim ] T oo ] [cosummenesns |

Does this meet the goal?

A. Yes
B. No

Answer: A
NEW QUESTION 24

FILL IN THE BLANK - (Topic 4)
Drag and drop the automation characteristics from the left onto the corresponding tools on the right.

all tunctions are performed over 554 [
Ruby syntax in configuration flies
YAML configuration language 1

Solution:

<map><m x1="15" x2="342" y1="18" y2="60" ss="0" a="0" /><m x1="20" x2="343" y1="76" y2="111" ss="0" a="0" /><m x1="19" x2="336" y1="129" y2="169"
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ss="0" a="0" /><m x1="22" x2="338" y1="186" y2="223" ss="0" a="0" /><m x1="368" x2="682" y1="42" y2="74" ss="1" a="0" /><m x1="362" x2="681" y1="88"
y2="124" ss="1" a="0"

/><m x1="366" x2="687" y1="130" y2="167" ss="1" a="0" /><m x1="366" x2="682"

y1="216" y2="251" ss="1" a="0" /><c start="1" stop="3" /><c start="0" stop="0" /><c start="2" stop="1" /><c start="3" stop="2" /></map>

Chef

Ruby syntax in configuration files Ansible

all functions are performed over ssh YAML configuration language Based on Python

Does this meet the goal?

A. Yes
B. No

Answer: A

NEW QUESTION 25
- (Topic 3)
Which type of tunnel Is required between two WLCs to enable Intercontroller roaming?

A. mobility
B. LWAPP
C. CAPWAP
D. iPsec

Answer: A

NEW QUESTION 26

- (Topic 3)

Which resource is able to be shared among virtual machines deployed on the same physical server?
A. applications

B. disk

C. VM configuration file

D. operating system

Answer: B

NEW QUESTION 27
- (Topic 3)
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i
@ e

\HH_ " AAA Server

— _g,/

Routerl$ ssh -s adainf192.168.20.3 -p 830 netconf
admin®l192.168.20.3's password: ciscol2l

<?xml version="1.0" encoding="UTF-8"?>

<hello xmlns="urn:ietf:params:xal:ns:netconf:base:1.0">

<capabilities>

<capability>urn:ietf:params:netconf:base:1.0</capability>
<capability>urn:ietf:params:netconf:base:l.1</capability>
<capability>urn:ietf:params:netconf:capability:writable-
running:1.0</capability>
<capability>urn:ietf:params:netconf:capability:xpath:1l.0</capability>
<capability>urn:ietf:params:netconf:capability:validate:1.0</capability>
<capability>urn:ietf:params:netconf:capability:validate:l.1</capability>
<capability>urn:ietf:params:netconf:capability:rollback=-on=
error:1l.0</capability

.._.Mp-nu

k/capabilities>

<sossion-id>2870</session-1id></ hello>])>])>

Use < *C > to exit

R)efer to the exhibit. An engineer tries to log in to router R1. Which configuration enables a successful login?
A

R1# username admin privilege 15

aaa authorization exec default local

B)

R1i#netconf-yang

username admin privilege 15 secret cisco123

aaa new-model

aaa authorization exec default local

C)

R1# aaa new-model

aaa authorization exec default local
enable aaa admin privilege 15

D)

R1#username admin privilege 15
aaa authorization exec default local
netconf-yang

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 28
- (Topic 3)
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Refer to the exhibit.

Accmrs-list 1 parmit 10.1.1.0 0.0.0.31
ip nat pool CISCO 209.165% 201 .1 209.165%.201.30 neatmask 235 . 253 255 224
ip RATt Anslde soUurce list 1 pool CLISCO

What are two effect of this configuration? (Choose two.)

A. Inside source addresses are translated to the 209.165.201.0/27 subnet.

B. It establishes a one-to-one NAT translation.

C. The 10.1.1.0/27 subnet is assigned as the inside global address range.

D. The 209.165.201.0/27 subnet is assigned as the outside local address range.
E. The 10.1.1.0/27 subnet is assigned as the inside local addresses.

Answer: AE

NEW QUESTION 29
- (Topic 2)
Refer to the exhibit.

Rl#ping 10.1.3.2
Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 10.1.3.2, timeout is 2 seconds:

Il‘!ll‘

Success rate is 100 percent (5/5), round-trip min/avg/max = 24/43/72 ms

R1#ping 10.1.3.2 size 1500
Type escape sequence to abort.
Sending 5, 1500-byte ICMP Echos to 10.1.3.2, timeout is 2 seconds:

1l!|l

Success rate is 100 percent (5/5), round-trip min/avg/max = 24/48/60 ms

R1#debug ip icmp
ICMP packet debugging is on

R1#ping 10.1.3.2 size 1500 df-bit

Type escape sequence to abort.

Sending 5, 1500-byte ICMP Echos to 10.1.3.2, timeout is 2 seconds:

Packet sent with the DF bit set

MMMMM

Success rate is 0 percent (0/5)

An engineer troubleshoots connectivity issues with an application. Testing is performed from the server gateway, and traffic with the DF bit set is dropped along the
path after increasing packet size. Removing the DF bit setting at the gateway prevents the packets from being dropped. What is the cause of this issue?

A. PMTUD does not work due to ICMP Packet Too Big messages being dropped by an ACL
B. The remote router drops the traffic due to high CPU load

C. The server should not set the DF bit in any type of traffic that is sent toward the network
D. There is a CoPP policy in place protecting the WAN router CPU from this type of traffic

Answer: C
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username admin privilege 15 password @ Cisco13579!
aaa new-model

|

aaa authentication login default local

aaa authentication enable default none
!

&

aaa common-criteria policy Administrators
min-length 1

max-length 127

char-changes 4

lifetime month 2

Refer to the exhibit. A network engineer must configure a password expiry mechanism on the gateway router for all local passwords to expire after 60 days. What
is required to complete this task?

A. The password expiry mechanism is on the AAA server and must be configured there.

B. Add the aaa authentication enable default Administrators command.

C. Add the username admin privilege 15 common-criteria*policy Administrators password 0 Cisco13579! command.
D. No further action Is require

E. The configuration is complete.

Answer: C

Explanation:

Perform this task to create a password security policy and to apply the policy to a specific user profile.
Device> enable

Device# configure terminal

Device(config)# aaa new-model

Device(config)# aaa common-criteria policy policyl

Device(config-cc-policy)# char-changes 4

Device(config-cc-policy)# max-length 20

Device(config-cc-policy)# min-length 6

Device(config-cc-policy)# numeric-count 2

Device(config-cc-policy)# special-case 2

Device(config-cc-policy)# exit

Device(config)# username userl common-criteria-policy policyl password passwordl
Device(config)# end
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